Practice Paper - 1 (2023-24)

CLASS: 12th (Sr. Secondary)
HOME SCIENCE

ACADEMIC/OPEN

[Hindi and English Medium] [Time allowed: 3 hours] [Maximum Marks: 60]
f&er: 1. gy gesT AT &/
2. A HEAT 1 15 Ak YAk I 1 3k HI §| TeT HEAT 16 W 21 deh Ucdeh U &1 37k, U2aT
TEIAT 22 T 27 T Ucdh URaT el 37 AT 92T &AT 28-30 Urd-9id 3ih h g |
Instructions: 1. All questions are compulsory.

2. Question numbers 1 to 15 are of 1 mark each, question numbers 16 to 21 are of Two marks
each, question numbers 22 to 27 are of Three marks each and question number 28-30 are of

Five marks each.
CREETRIERLG]

( Multiplé Choice Questions)
1. HITd ST T it foiaTt # arer aram 72
a. T b.ar
c. IR d. /g
Mankind is divided into how many Genders?
a. One b.Two

c. four d. Five

2. 3R & Xl FTe; AT T el Feh & JTER T HTaRTehel Bl &2

..
|
;
:
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What type of diet does the patient require immediately after the operation?

a. high protein diet
b. low sodium diet
c. high fiber diet

d. high fat diet



3. oIS UIRTR @RI QY I WECT §lel & T 38 WIS gled  TeTet oh fIT ahleT & Tehad 7 Taehre foham aram
a7?

a. ferstelientor b. @1 Y&Tf 1 Jaelienor
C. TERIOT d. 33T AT
Which process was developed by Louis Pasteur to prevent milk from turning sour and spoiling?
a. Dehydration b. Fortification of food
c. pasteurization d.cooling
4. URT STeITTEUT STHTS U RIET & FSTAHAT UTec el Sl #geTcld Aol g-:
a T b EATTRIY
c 10+2 d gadr
What is the minimum eligibility qualification for diploma in Early Childhood Care and Education?
a. Graduation b.Post Graduation
c. 10+2 d. Matric
5. STUfA® {[TE
a. ofrel b.&Telr
c. drerr d.geT

Primary colors are -:

a. Red b.Blue c.Yellow d.All of these
6. TaT T qUT &9 AT § -

a. Yot USlhel JHE TAIATAT

b. WW&HWW

c. @Ewaﬁﬁu@ﬁwm

d. Yo UTigs gHd TaEfaTerT

What is the full form of SEWA?

Self education women's Association
Self education women’s Aayog

Set employed women's Association
Self employed womens Association

oo oo



ReereT T1eT & qfet |

Fill in the blanks-

T, HATThIa T RIeg &

........ is a Standardization mark?

8. i, AISTAT & SIRT Tehed H UG I¢ BIET Y & el bl 3oled TR SaRT o¥:3[eeh STelsEl HIdl
ST gl

going children?
9. F&H TIeh Tcal ol AT Bl............... & &Y H ST STl 872
The deficiency of Micronutrients is known as............... ?

Teh 2leg H 3w SIS

(Give answer in one word)-:

1039 T80T 3ifAfATa e aika fwar arar?

When was the Consumer Protection Act formed?

11. mwmwamgmmgg?

When was the National Nutrition Program started?

12 5] IRR&TH hleT-hleT A 82
What are household preservatives?

3RS YA- HROT YeT-:-

13. i) T 7T &Y FYUAT Y ITAFUA (A) TUT HROT (R) & & F 3ifhc foharm T B
HfRRYT (A) 1948 1 herd) rfATATA A3t & Henaren JRASRT Hr FI&T FT B |
HROT (R) : 38 ATATAIH o 3A9Td AR T Tadfaeh 1faRerd 31aenrer ot T 1R fear sm=r g1

oA feT aTC fashoul & & Hallfteh 3Ugerd fashod o1 T3 Hifoiu-

a. 3fAFUA (A) 3R FROT (R) S1AT TET & 3R FROT (R) 31fARUA (A) Fr T care&an g

b. 31fAHUT (A) 3R FROT (R) ST TEY & aAfehe FROT (R), 31fAHU=T (A) Hr T8 sarear
oTel &

c. 3fAFUA (A) TET & oAfehet HROT (R) T &

d. 3AFUA (A) Ted § Sifehet FROT (R) TET &1

The two statements are given below marked as Assertion (A) and reason (R )-:



Assertion ( A) The factory act of 1948 protects the Constitutional rights of women.

Reason (R) - Under this act, the women have been given the right to take additional paid
leave.

Select the most appropriate option from the options given below-

a. Both Assertion (A) and reason (R ) are True and reason ( R ) is the correct
explanation of Assertion (A)

b. Both Assertion (A) and reason (R ) are True and reason ( R ) is not the explanation
of Assertion (A).

c. Assertion (A) is correct but Reason (R ) is wrong.

d. Assertion A is false but Reason (R ) is correct.

14, R fET 37T &Y HUAT F 3TABAA (A) TUT HROT (R) & T F 37fhc fhar ram g

HAFUT (A) : TR STeATTEAT Saetanlel T TaH ST HTEAT I g |

SROT (R) : YR STeATaEAT H A CWHTS, T Td HRAFT 37o37d 3Heh 3Tel dTel Sfidet
aifafafrat va faffiesr lerdl & & R& s §1

AT T 910 fdeheul & & gaTitieh 3ugerd faehed &l TdeT HIfoIT-

a. AU (A) 3R FROT (R) et Tl & AR HROT (R), ATHRUT (A) T TET SATEAT B |

b. 31TAFUT (A) 3R FROT (R) ST HET & oAfched FROT (R), 31TARUT (A) 1 T&T sarear
e 8l

c. 3fHHUA (A) TET § aifhet HROT (R) ITeId g

d. 31THRUF (A) el § Afehet HROT (R) FET &

Assertion( A) : Early childhood is the most unique stage of life.

Reason ( R ): The care, belonging and powerful experience of life received in early childhood
become the factor for the activities and various skills of his future life.

Select the most appropriate option from the options given below-

a. Both Assertion (A) and reason (R ) are True and reason ( R ) is the correct
explanation of Assertion (A)

b. Both Assertion (A) and reason (R ) are True and reason ( R ) is not the explanation
of Assertion (A).

c. Assertion (A) is correct but Reason (R ) is wrong.

d. Assertion A is false but Reason (R ) is correct.

15. i) T 7T &Y FYUAT Y ITAFUA (A) TUT HROT (R) & & F 3ifohc fohar A ¢

HTARYST (A) : IETATS & hUsT T Ul & dTe HUST I YO & I 9 (SET) 7gT fohar S|
SR (R) : mmé:m@aﬁa:rmw:rma?rm TTTTAT 3R PRI W BT &

AT T 91T fdehoul & & aTtieh 3ugerd faehed &l TgeT HIfIT-




a. 3ASHUA (A) 3R FROT (R) S1AT Tl & 3R HROT (R), ATHFUT (A) T TEY ATEAT B |

b. 3fAFUA (A) 3R HROT (R) a1l TT & aifched SROT (R), 31TAFUA (A) Fr T8 carear
T8l &

c. 3fHHUF (A) TET § AfeheT HROT (R) 31T B

d. 3fHFYT (A) Ted g aAfhed HROT (R) TLT &

Assertion ( A): After washing of Hospital clothes they are not well pressed or ironed efficiently.

Reason( R ): The main focus of Hospital laundries is keeping clothes clean, hygienic and
disinfected.

Select the most appropriate option from the options given below-

a. Both Assertion (A) and reason (R ) are True and reason ( R ) is the correct
explanation of Assertion (A)

b. Both Assertion (A) and reason (R ) are True and reason ( R ) is not the explanation
of Assertion (A).

c. Assertion (A) is correct but Reason (R) is wrong.

d. Assertion A is false but Reason (R ) is correct.

3 &g 3 et

(Very Short Answer Type Questions)

16. HRd o WIRETT IIHTT chleT-hiel F 82

What are the traditional occupations of India?
17 .QTET HHHOT AT T 872

What is Food borne Infection?
18. dehfodeh TR T Blcil 572

What is Substitute Care?
19. WIET it HUTOT F 7 HHIT &

What do you mean by Protein Energy Malnutrition?
20. %hag & a1 AfAUT 82

What do you mean by Fads?

OR

IRIRS STeATIEAT SWHTS TG fRA8TT &7 FAT AGT g7

What is the importance of Early Childhood Care and Education (ECCE)?



21. QN Y HISTeT fohctet TehT GaRT feam ST 872

What are the methods of feeding patients?

OR

RSTE & 39 a1 gHTS 72

What do you mean by Resorts?

oY SeTcH TR
(Short answer type questions)
22. HAR I &1 37 g2 IR & fohoel &I AT & 1A ff@u|

What is the meaning of communication? Write any two sources of communication?
23. WA T HET A e fora|

Write a brief note on Agmark.
24. 3ER fohdst &R & 8Id 82 AafAd 31 Fnfea 3meR 7 F31 3R 82

How many types of Diets? What is the difference between a Regular and Modified diet?

25. T T ‘thereT T She, T gl SITT § dulel ahi?.

Why is France known as the ‘Centre of Fashion’? Explain.
26. qYh LT ATl & 319 41 GHSIA &

What do you mean by complementary color scheme?

OR

gieeT & g cATEAT FAHTT & 1 TAST?

What are the functions of the housekeeping department of Hotels?
27. 33 Naet ta9d &1 Ja19 7 Juie |

Explain the Red Ribbon Express in brief.

OR
3ER FAfehcar & a1 36T 87

What are the objectives of Diet Therapy?

&rer 3TcAs e (Essay type questions)



28.

29.

30.

YT G R HI&TUT T T Fged o2

What is the importance of Food Processing and Food Preservation?
OR

STHIFAT Shl THATATIT T TATAR T FOTT 2

What are the problems of Consumers? Explain in detail.
FEHTIEUT o feheT HROUN A Hca12Mel HaTer AT 3T §
Why is old age known as a sensitive period?

OR
et 3 et Riguia Fl-Fh & ¥2 REaR T qoier Y|
What are the Principles of Design? Explain in detail.

gEAT Y SEIW TG TW@IEIT & [oIT YT H 3Ted aTel 3Ta2Teh 3TV T [AEAR T T hi?

What are the essential equipment used in care and maintenance of clothes?

OR
H&H I dcdl T AT F glel arel AT T qUTeT Y

Explain the diseases caused by the deficiency of Micronutrients?



